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User ages calculation

As part of the questionnaire, we collect the following data points to calculate children’s user age:
. The real current age of the child
. That they use at least 1 app/site from the list we have in our questionnaire

. That the child has their own profile on the app(s)/site(s) they use

To determine what age they have on their profile for the apps/sites they use — we then calculated their user age with the following data
points:

. The real current age of the child
. How long they have had a profile on the site/app
. What age they used when setting up the account or, if they had changed their DOB, what age they have changed their profile to

now
. A range of scenarios were considered and applied depending on the answers provided by children
. All scenarios considered are included in this pack

There are a list of caveats to take into consideration when reviewing our calculations — please refer to the main chart pack for these
which you can find here: [Insert link to chart pack]



Scenario 1- A child over 13 that said they entered their actual age at set up

Scenario 1

Length of time on DOB at set up Actual age of child Assumption USER AGE Example
profile (Q3) (Q8/Q8a) (P3)
VRO U User age = actual Jc:|)etis 11‘76'?ti1enrtwered hi:IaCtual
. - ate or ol when profiie was
N/A was their actual 13-17 N/A age set up - therefore, his user age
s is 17.

Scenario 2 - A child under 13 that said they entered their actual age at set up
(but we know this can’t be the case, so we assumed they entered 13 at set

up)

Scenario 2 (1)

If DOB at set up

Child cannot have put
actual age as their DOB

User age =

Joe is 9, he said he entered his actual date of
birth when profile was set up - which can't be
true as they have to have a minimum user age

Scenario 2 (2)

Between 0-5 . at set up, therefore nimur .
I was their actual Under 13 SSrurhe they pitlageldd 13 plus length of of 13. We therefore a;;limehwmmmgage is
age Assume length of time time on prOﬁ le He's been on the platform for 0 years;
on profile as 0 years therefore, his user ageis 13.
Child cannot have put Joe is 9, hesaid he entered his actual date of
If DOB at set up actual age as their DOB User age = birth when profile was set up - which can't be
Between 6_11 ) at set up, therefore true asthey have to have a minimum user age
s was their actual Under 13 assume they put age 13 13 plus length of of 13. We therefore a;;ymehmommgase is
age Assume length of time time on pI’Oﬁ le He's been on the platform for 1 year;

on profile as 1 year

therefore, his user ageis 14.




Scenario 2 - A child under 13 that said they entered their actual age at set up
(but we know this can’t be the case, so we assumed they entered 13 at set

up)

Scenario 2 (3)

Scenario 2 (4)

Scenario 2 (5)

Length of time on DOB at set up Actual age of child Assumption USER AGE Example
profile (Q3) (Q8/Q8a) (P3)
DO at chitd cannot have put U R e
Between 1-5 a set up actual age as their DOB Serage = true as they have to have a minimum user age
was thEIr' aCtual Under 13 at set up, therefore 13 plus |ength of of 13. We therefore assume his joining age is
years age CESRE B PEEER t' me on prOﬁ |e He's been on the :>I33.tform for 3 years;
13. therefore, his user ageis 16. ,
Child cannot have put tJ:)(;\iS 9|:1 he sai(ilhe enterid his acr:ual dati gf
. irth when profile was set up - which can't be
More than 5 If DOB at set up aCtl:aI ?ge atshthe’; bos User age = true as they have to have a minimum user age
q atsetup, therejore of 13. We therefore assume his joining age is
— was their actual Under 13 assume they put age 13. 1?.> plus Iength of s
age Assume length of time time on profile He's been on the platform for 6 years;
on profile as 6 years therefore, his user ag1e8|s 19 which equates to
+
Joe is 9, he said he entered his actual date of
Child cannot have put birth when profile was set up - which can't be
|f DOB at set Up actual age as their DOB User age — true asthey haveto have a mlnlmum user age
Don’t remember was their actual Under 13 at set up, therefore e 42 of13. Wetherefore assumehisjoining age i

age

assume they put age
13.

He can’t remember how long he has had the
profile, therefore we assume minimum of 0
years, so his user age is at least 13.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (1)

Scenario 3 (2)

Length of time on DOB at setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put Joe is 9, he said he entered a date of birth
under 13 as their DOB at User age - 13 which made him 11 when profile was set up -
Between 0-5 set up, therefore assume wr.uc.h can't betrue they have to have a
- minimum user age of 13. We therefore
10-12 Under 13 e s s 16 plus length of
months By [P s : . . assume his joining age is 13.
Assume length of time time on prOﬁ Ie He's been on the platform for 0 years;
on profile as 0 years. therefore, his user ageis 13.
1) If the user age is above or equals the actual
age: Joeis 13, hesaid he entered a date of
1) User age =13 birth which made him 12 when profile was set
p| us Iength of up - which can't be true they have to have a
ti file (If minimum user age of 13. We therefore
Tntz el 2l e_( assume his joining age is 13.
the user age Is He's been on the platform for 0 years;
above or equals therefore, his user ageis13.
Child cannot have put th t lq )
under 13 as their DOB at eactualage 2) Ifthe user age is lower than the actual age:
Between 0-5 set up, therefore assume Joe is 15, he said he entered a date of birth
10-12 13-17 2 User age = 13 which made him 12 when profile was set up -
they put age 13 g
months yputagels. lus length of which can't be true they have to have a
Assume length of time . P g . minimum user age of 13. We therefore
on profile as O years. time on profile (If assume his joining age is 13.
the user age is He's been on the platform for 0 years;
lower than the therefore, his user ageis 13.
However, his user age now is lower than his
actual age) actual age, because the research only looks at
Excluded from children whose user age is older than their
calculation actual age, this case will be exduded from the
Auser age calculation




Scenario 3 - Children who entered a DOB at set up which made their social
media profile have a user age that is older than their actual age

Scenario 3 (3)

Scenario 3 (4)

months

they put age 13.
Assume length of time
on profile as 1 year.

plus length of
time on profile (If
the user age is
lower than the
actual age)
Excluded from
calculation

Length of timeon  pDOBatsetup(Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)

Child cannot have put loe 9 hesad h iad e brthwhich

: oe is 9, he said he entered a date of birt i
under 13 as their DOB at Use r age = 13 madeI him 11 V\;hen profile was setup - :Nhich clan‘t
Between 6_11 10_12 Under 13 set up, therefore assume IUS Ien th Of be true they have to have a minimum user age of

h they put age 13. p g 13. We therefore assume his joining ageis 13.
months ; . : . ;
Assume length of time time He's been on the platform f9r 1 year; therefore, his

on profile as 1 year. user age is 14.
1) User age =13 )

1) Ifthe user age is above or equals the actual age:
p|US Iength of Joe is 13, he said he entered a date of birth which
time on profile (If made him 12 when profile was setup - which can't
the user age is be true they have to have a mlnlmum usetjage of

b Is 13. We therefore assume his joining ageis 13.
Child cannot have put ihzvaecfl:aelil;;) He's been on the platform fprlitlyear; therefore, his

under 13 as their DOB at R
Between 6-11 set up, therefore assume 2) Ifth is han th | age:
10_12 13_17 P, fi 2) User age = 13 ) If the user age islower than the actual age:

Joe is 15, he said he entered a date of birth which
made him 12 when profile was setup - which can't
be true they have to have a minimumuser age of
13. We therefore assume his joining ageis 13.
He's been on the platform for 1 year; therefore, his
user age is 14. His user age is now lower than his
actual age . However, because the research only
looks at children whose user age is older than their
actual age, this case will be excluded from the user
age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (5)

Scenario 3 (6)

13.

time on profile (If
the user age is
lower than the
actual age)
Excluded from
calculation

Length of time on DOB at setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
chitdcannot have put | | 13 || e pessne et e it
; serage = -
Between 1-5 under 13 as their DOB g which can't be true they have to have a
10-12 Under 13 at set up, therefore pIUS |ength of minimum user age of 13. We therefore
years assume they put age . assume his joining age is 13.
13 time He's been on the platform for 2 years;
' therefore, his user ageis 15.
1) Ifthe user ageis above or equals the actual
_ age:Joe is 15, he said he entered a date of
1) Ulserlaget_h 1?;: birth which made him 12 when profile was set
plus lengtn o up - which can't be true they have to have a
time on profile (If minimum user age of 13. We therefore
: assume his joining age is 13.
the user age is He's been on the platform for 4 years;
above or equals therefore, hisuser ageis17.
Child cannot have put the actual age)
under 13 as their DOB 2) Ifthe user ageislower than the actualage
Between 1'5 10 12 13 17 h Joe is 15, he said he entered a date of birth
- - atsetup, t erefore 2) User age =13 which made him 12 when profile was set up -
years assume they putage plus length of which can't be true they have to have a

minimum user age of 13. We therefore
assume his joining age is 13.

He's been on the platform for 1 year,
therefore, his user ageis 14.
However, his user age now is lower than his
actual age, because the research only looks at
children whose user age is older than their
actual age, this case will be excluded from the
Auser age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Length of time on
profile (Q3)

DOB at set up (Q8a)

Actual age of child

(P3)

Assumption

USER AGE

Example

Scenario 3 (7)

More than 5
years

10-12

Under 13

Child cannot have put
under 13 as their DOB at
setup, therefore assume
they put age 13.
Assume length of time
on profile as 6 years.

Userage =13
plus length of
time on profile

Joe is 9, he said he entered a date of birth which
made him 11 when profile was set up - which can't
be true they have to have a minimum user age of 13.
We therefore assume his joining age is 13.
He'sbeen on the platform for 6 years; therefore, his
user ageis 19, which equatesto 18+.

Scenario 3 (8)

More than 5
years

10-12

13-17

Child cannot have put
under 13 as their DOB at
set up, therefore assume

they put age 13.
Assume length of time
on profile as 6 years.

Userage =13
plus length of
time

Joe is 17, hesaid he entered a date of birth which
made him 11 when profile was set up - which can't
be true they have to have a minimum user age of 13.
We therefore assume his joining age is 13.
He'sbeen on the platform for 6 years; therefore, his
user ageis 19, which equatesto 18+.

Scenario 3 (9)

Don’t remember

10-12

Under 13

Child cannot have put
under 13 as their DOB
at set up, therefore
assume they put age

User age = at
least 13

Joe is 9, he said he entered a date of birth which
made him 11 when profile was set up - which can't
be true they have to have a minimum user age of 13.
We therefore assume his joining age is 13.

He doesn’t know/can’t remember how long he has
had the profile, therefore we assume minimum of 0

Scenario 3 (10)

Don’t remember

10-12

13-17

13. years, so his user age is at least 13.

_ 1) If theuserage is above orequals the actual age: Joe is 13,

1) User age= at least he said he entered adate of birth which made him 12 when

13 (lf the user age profile was set up - which can't be true they have to have a

minimum user ageof 13. He doesn’t know/can’t remember

isa bove or equals how long he has had the profile, therefore we assume

minimum of 0 years. We therefore assume his joiningage is
. the actual age) 13
Child cannot have put \

under 13 as their DOB at
set up, therefore
assume they putage 13.

2) User age = at least
13 (If the user age
is lower than the

actual age)
Excluded from
calculation

2) If the user age is lower than the actual age:

Joe is 15, he said he entered adate of birth which made him
11 when profile was set up - which can't be true they have to
have aminimum user age of 13. We therefore assumehis
joining age is 13.

He doesn’t know/can’t remember how long he has had the
profile, therefore we assume minimum of Oyears, so his user
age is at least 13.

However, his userage now is lower than his actual age,
because the research only looks at children whose user age is

older than their actual age, this case wil

user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (11)

Scenario 3 (12)

setup plus
length of time on
profile (If the
user age is lower
than the actual
age) Excluded
from calculation

Length of time on DOB at setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
i he said he entered a date of
User age = age at loe 159, | !
Between 0-5 Assume length of time 8 g birth which rr:ade him 14 when profile
13-17 Under 13 . set up plus |eng‘th was set up. He's been on the platform for
months on profile as 0 years f i fil 0 years; therefore, his user age is at least
of time on proriie 14.
1) If the user ageis above or equals the
1) User age = age at actual age: Joe is 15, he said he entered a
SE e date of birth which made him 16 when
P p profile was set up. He's been on the
Iength'of time on platform for 0 years; therefore, his user
profile .(|f ttl;le age is at least 16.
user age Isabove
or equals the 2) If the user age is lower than the actual
actual age) age: Joe is 15, he said he entered a date
Between 0-5 : of birth which made him 14 when profile
13-17 13-17 Assume {ength P was set up. He's been on the platform for
months on profile as 0 years 2) User age = age at

0 years; therefore, his user age is at least
14
However, his user age now is lower than
his real age, because the research only
looks at children whose user age is older
than their actual age, this case will be
excluded from the user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Length of time on

Scenario 3 (13)

Scenario 3 (14)

DOB at setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Between 6 11 User age = age at Joe is 9, he said he entered a date of
n Assume length of time birth which made him 14 when profile
months 13-17 Under 13 on profile as 1 year set up plUS Iength was set up. He's been on the platform for
of time on prof”e 1 year; therefore, his user age is 15.
1) If the user age is above orequals the
1) User age = age at actual age:Joeis 15, he said he entered a
set up plus length date of birth which made him 16 when
of time on profile profile was set up. He's been on the
(If the user ageis platform for 1 year; therefore, his user
above or equals ageis at least 17
the actual age
ge) 2) If the user age is lower than the actual
Between 6-11 13-17 13-17 Assume length of time 2) User age = age at age: Joe is 15, he said he entered a date

months

on profile as 1 year

set up plus length
of time on profile
(If the user ageis
lower than the
actual age)
Excluded from
calculation

of birth which made him 13 when profile

was set up. He's been on the platform for
1 year; therefore, his user age is at least

14

However, his user age now is lower than
his real age, because the research only
looks at children whose user age is older
than their actual age, this case will be
excluded from the user age calculation




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Length of time on

DOB at set up (Q8a)

Actual age of child

Assumption

USER AGE

Example

Scenario 3 (15)

Scenario 3 (16)

Scenario 3 (17)

Scenario 3 (18)

profile (Q3) (P3)
User age = age at Joe is 9, hesaid he entered a date of birth
_ _ which made him 14 when profile was set up.
Between 1 5 years 13 17 Under 13 set Up pIUS Iength He's been on the platform for 2 years;
Of tlme on profile therefore, his user ageis 16.
_ 1) Ifthe user age is above or equals the actual
1) User age = age at age:Joe is 15, he said he entered a date of
setup plus length birth which made him 16 when profile was set
of time on profile (If up. He'sbeen on the platformfor 2 years;
the user age is therefore, his user ageis 18.
above or equals the
actual age) 2) If the ust;r agecijshlower thadn tP;e actt;allj ag::
Joe is 15, he said he entered a date of birt
Between 1_5 13 17 13 17 ) U _ t which made him 13 when profile was set up -
years - - ) serage=agea We therefore assume his joining age is 13.
setc up plus Ien.gth He's been on the platform for 1 year,
of time on PFOf'!e (If therefore, his user ageis 14.
the user age is However, his user age now is lower than his
lower than the actual age, because the research only looks at
actual age) children whose user age is older than their
Excluded from actual age, this case will be exFluded from the
calculation user age calculation
U _ Joe is 12, he said he entered a date of
Assume length of time serage =ageat birth which made him 13 when profile
More than 5 years 13-17 Under 13 e oS 6 set up plus length was set up. He's been on the platform for
on profile as 6 years fti fil 6 years; therefore, his user ageis 19,
OoT imée on protilée which equates to 18+.
Joe is 15, he said he entered a date of
User age = age at . . . .
Assume length of time birth which made him 16 when profile
More than 5 years 13-17 13-17 set up plus Iength was set up. He's been on the platform for

on profile as 6 years

of time on profile

6 years; therefore, his user ageis 22,
which equates to 18+.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (19)

Scenario 3 (20)

Scenario 3 (21)

Scenario 3 (22)

Length of time on DOBat setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Joe is 9, he said he entered a date of
User age = at birth which made him 13 when profile
) _ was set up. We don’t know how long he
Don’t remember 13-17 Under 13 least age at set has been on the platform, so we assume
up user age matches his age at set up which
is at least 13 in this example.
1) If the user age is above or equals the actual
1) User age = atleast age:Joe is 13, hesaid he entered a date of
birth which made him 16 when profile wasset
dEmEn SeF az (Ifthe up. Wedon’t know how long he has been on
userage is above or the platform, so we assume user age matches
equals the actual his age at set up whichis at least 16.
age) 2) If the user age is lower than the actual age:
Joe is 15, hesaid he entered a date of birth
’ _ _ which made him 13. We don’t know how long
Don’t remember 13-17 13-17 2)  Userage=atleast he has been on the platform, so we
age atset up (If the assume user age matches his ageat set up
iser age iSp|(()W€r ) whi‘ch is at least 1?.
But now his user age is lower than hisactual age,
than the actual age) because the research only looks at children whose
Excluded from user ageisolder than their actual age, this case_will
calculation be excluded from the user age calculation
Assume length of time bJ.oehis E:],. h: sai: hslenteredha datefc?lf
Between 0-5 on profile as 0, assume User age = at irth which made him 18 when profile
18+ Under 13 prof ’ & was set up. He's been on the platform for
months DOB at set up as 18 least 18 0 years; therefore, his user age is at least
years 18.
Assume length of time Jf)e is 15., he said he. entered a date 9f
Between 0-5 on profile as 0, assume User age = at birth which made him 18 when profile
18+ 13-17 was set up. He's been on the platform for
months DOB at set up as 18 least 18 0 years; therefore, his user age is at least
years 18.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (23)

Scenario 3 (24)

Scenario 3 (25)

Scenario 3 (26)

Length of timeon  DOBatsetup(Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Assume length of time bJoehis 5:1, hhe saij hs enteredha datefolf
Between 6_11 . Usera e = at irth which made him 18 when profile
18+ Under 13 Ol [IRELE 5 4 [ g was set up. He's been on the platform for
months assume DOB at set up least 18 1 year; therefore, his user age is 19 which
as 18 years equates to 18+.
Assume length of time kJ)oehis 15, :e sa(ijd f;]e entere(r:: a datefolf
B -11 . Usera e =at irth which made him 18 when profile
SR & 18+ 13-17 10 PR o 4 e g was set up. He's been on the platform for
months assume DOB at set up least 18 1 year; therefore, his user age is 19 which
as 18 years equates to 18+.
Joe is 9, he said he entered a date of
Between 1- User age = at birth which made him 18 when profile
+ nder was set up. He's been on the platform for
etwee 5 18 Under 13 Assume ?;)B at set up 8
years e ke least 18 2 years; therefore, his user age is 20
which equates to 18+.
Joe is 15, he said he entered a date of
Between 1-5 User age = at birth which made him 18 when profile
18+ 13-17 Assume DOB at set up g was set up. He's been on the platform for
years as 18 years least 18 2 years; therefore, his user ageis 20,

which equates to 18+.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (26)

Scenario 3 (27)

Scenario 3 (28)

Scenario 3 (29)

Length of time on DOB at setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Assume length of time Joe is 9, he said he entered a date of
More than 5 . User age = at birth which made him 18 when profile
18+ Under 13 o PP €5 6, g was set up. He's been on the platform for
years assume DOB at set up least 18 6 years; therefore, his user age is 24,
as 18 years which equates to 18+.
Assume length of time Joe is 15, he said he entered a date of
More than 5 . User age = at birth which made him 18 when profile
18+ 13-17 i) EI B O TG, g was set up. He's been on the platform for
years assume DOB at set up least 18 6 years; therefore, his user ageiis 24,
as 18 years which equates to 18+.
Joe is 9, he said he entered a date of
User age = at birth which made him 18 when profile
Don’t remember 18+ Under 13 Assume ngOB at set up g was set up. We don’t know how long he
as loyears least 18 has been on the platform, so we assume
user age is atleast 18.
Joe is 15, he said he entered a date of
User age = at birth which made him 18 when profile
Don’t remember 18+ 13-17 Assume DOB at set up g was set up. We don’t know how long he

as 18 years

least 18

has been on the platform, so we assume
user age is atleast 18.




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (1)

Scenario 4 (2)

Scenario 4 (3)

Scenario 4 (4)

2) Assume they put
actual age at set up

plus length of time
on profile

Length of time on DOB atsetup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put )
Don’t under 13 as their DOB at Joe is 9, he doesntremelember what DOB
Between 0-5 , set up. Therefore, User age = at he used at set up. He's been on the_
know/ Don’t Under 13 th ¢ 13 platform for 0 years, therefore, assuming
months remember aj‘\sume ley iZ C}g: ’ least 13 he had to enter 13 as DOB, his user age is
ssume length of time atleast 13.
on profile as 0 years.
Joe is 15, he doesn’t remember what
Don’t User age = actual ' _
Between 0_5 , Assume /ength oftime DOB he u§ed at setup, so we_assume it
know/Don t 13-17 7 el 0 age plus |ength of matches his actual age (as heis over 13).
months b D g e s ti fil He's been on the platform for 0 years;
remember Ime on profile therefore, we assume his user age is 15.
Child cannot have put ]
Don't under 13 as their DOB at Joe is 9, he doesn’t remtlember what DOB
Between 6-11 , set up. Therefore, User age =at he used at set up. He's been on the.
know/ Don’t Under 13 th R 13 platform for 1 year, therefore, assuming
months e lbe a:sume Iey ﬁ;‘;, C}g: ' least 14 he had to enter 13 as DOB, his user age is
ssume length of time atleast 14.
on profile as 1 year.
1) If calculation makes child under 13 at set up
e.g. Joe is 13, he doesn’t remember what DOB
he used at set up.
Assume length of time 1) User age = at least He's been on the platformfor 1 year;
on profi/e as 1vear therefore, he would have been 12 when he
Don’t y 14 signed up, so would have had to enter DOB as
Between 6-11 , 2) User age = actual 13. Add length of time to this (13+1) which
th knOW/Don t 13-17 1) Assume they put age/age at set up meant he has a user age of 14.
montns DOB as 13 at set up 2) If calculation makes child over 13 at set up
remember

e.g. Joe is 15, he doesn’t remember what DOB
he used at set up. He’s been on the platform
for 1 year; therefore, he would have been 14
when he signed up. Add length of time to this
(14+1) which meant he had a user age of 15

(same as actual age).




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (5)

Scenario 4 (6)

Scenario 4 (7)

Scenario 4 (8)

profile

Length of time on DOB at setup (Q8a)  Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Don’t User age‘:. ;oe is‘_:j, hte dgesn';rimember whaz |DOBt
Between 1-5 , Assume they put DOB 13 (assume minimum € usec alset Up, but we assume at leas
knOW/ Don’t Under 13 . 13. He’s been on the platform for
years as 13 atsetup. 13) plus length of time 3 years; therefore, his user age is at least
remember on profile 16.
1) If calculation makes child under 13 at set up
e.g. Joe is 15, he doesn’t remember what DOB
1) User age = 13 he used at set up.
s He’s been on the platformfor 4 years;
(assume minimum therefore, he would have been 11 when he
Don’t 1) Assume they put 13) plus length of time signed up, so would have had to enter DOB as
Between 1-5 , DOB as 13 at set up on profile 13. Add length of time to this (13+4) which
knOW/Don t 13-17 _ meant he had a user age of 17.
years 2) Assume they put 2) User age = actual 2) If calculation makes child over 13 at set up
remember actual age at set up age/age at set up plus e.g. Joe is 15, he doesn't remember what DOB
| h of ti he used at set up. He’s been on the platform
engt p:)of’i(;;ne on for 2 years; therefore, he would have been 13
when he signed up. Add length of time to this
(13+2) which meant he had a user age of 15
(same as actual age).
Sl i = Joe is 9, he doesn’t remember what DOB
7 ’
More than 5 Don’t ASS;JT;JZ:gZquOB 13 (assume he used at set up, so we assume 13. He’s
know/Don’t Under 13 g minimum for sign been on the platform for 6 years;
years Assume length of time therefore, his user age is 19, which
: up) plus length of g & 2
remember on profile as 6 years ” il equates to 18+,
Ime on proriie
Don’t Assume they put DOB ST R = Joe is 15, he doesn’t remember what
More than 5 as 13 atsetup 13 (assume DOB he used at set up, so we assume 13.
know/Don’t 13-17 g minimum 13) plus He’s been on the platform for 6 years;
years Assume length of time ; Therefore, his user age is 19
remember on profile as 6 years length of time on ' '

which equates to 18+.




Scenario 4 - Children who did not know what DOB they entered at set up

Length of timeon  DOBatsetup(Q8a)  Actual age of child Assumption USER AGE

profile (Q3) (P3) Example
Don’t Excluded as we
. , , don’t have enough
Scenario 4 (9) Don’t remember know/Don’t Under 13 nformation for user
remember age calculation
Don’t Excluded as we
. , , : don’t have enough
Scenario 4 (10) Don’t remember know/Don’t 13-17 formation for user
remember age calculation

*Length of time not required for user age calculation for those that have changed their DOB



Scenario 4 - Children who did not know what DOB they entered at set up

Length of time on

Scenario 4 (11)

Scenario 4 (12)

Scenario 4 (13)

Scenario 4 (14)

DOB at set up (Q8) Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Child cannot have put )
Don't remember under 13 as their DOB at Joe is 9, he doesntremelember what DOB
Between 0-5 set up. Therefore, User age = at he used at set up. He's been on the_
Q8 so not asked Under 13 assume thev put age 13 platform for O years, therefore, assuming
months 8 yp g. ’ least 13 he had to enter 13 as DOB, his user age is
Q8a Assumef(lengtf(; of time at least 13.
on profile as 0 years.
Joe is 15, he doesn’t remember what
Don’t remember User age = actual ’ _
Between 0_5 Assume /ength oftime DOB he u§ed at setup, so we_assume it
Q8 so not asked 13-17 i 0 age plus |ength of matches his actual age (as heis over 13).
months on profile as O years ti fil He's been on the platform for 0 years;
Q8a Ime on profile therefore, we assume his user age is 15.
Child cannot have put
; Joe is 9, he doesn’t remember what DOB
Don’t remember under 13 as their DOB at ’ )
Between 6-11 3 ; ked Und 13 set up. Therefore, User age = at | P}; use? atlset up.t:esfbeen on the.
h Q SO NOt aske naer e st me A, | t14 platform for 1 year, therefore, assuming
months i eas he had to enter 13 as DOB, his user age is
Q8a Assumefl'clengthlof time E——
on profile as 1 year.
1) If calculation makes child under 13 at set up
e.g. Joe is 13, he doesn’t remember what DOB
he used at set up.
Assume length of time 1) User age = at least He's been on the platformfor 1 year;
Don't remember on profie s 1 year 14 perfom e vl e b 2 e
Between 6-11 Q8 so not asked 2) User age = actual 13. Add length of time to this (13+1) which
13-17 1) Assume they put meant he hasa user age of 14.

months

Q8a

DOB as 13 at set up
2) Assume they put
actual age at set up

age/age at set up
plus length of time
on profile

2) If calculation makes child over 13 at set up
e.g. Joe is 15, he doesn’t remember what DOB
he used at set up. He’s been on the platform
for 1 year; therefore, he would have been 14
when he signed up. Add length of time to this
(14+1) which meant he had a user age of 15
(same as actual age).




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (15)

Scenario 4 (16)

Scenario 4 (17)

Scenario 4 (18)

Q8a

on profile as 6 years

length of time on
profile

Length of time on DOB at set up (Q8) Actual age of child Assumption USER AGE Example
profile (Q3) (P3)
Don’t remember User age = Joe is 9, he doesn’t remember what DOB
Al he used at set up, but t least
Between 1-5 Assume they put DOB 13 (assume minimum -set up, butwe assume at leas
8 so not asked Under 13 . 13. He's been on the platform for
13 atset 13) plus length of t
years SR A o ) plus length of time 3 years; therefore, his user age is at least
Q8a on profile 16.
1) If calculation makes child under 13 at set up
e.g. Joe is 15, he doesn’t remember what DOB
— he used at set up.
( 1) User ag.e ._ = He’s been on the platformfor 4 years;
’ assume minimum therefore, he would have been 11 when he
8 s Don’t rememkbzr 1) Assume they put 13) plus length of time signed up, so would have had to enter DOB as
etween 1- 8 so not aske ; 13. Add length of time to this (13+4) which
Q 13-17 DOB as 13 at set up on profile meant he had a user ageof 17.
years Q8a 2) Assume they put 2) User age = actual 2) If calculation makes child over 13 at set up
actual age at set up age/age at set up plus e.g. Joe is 15, he doesn’t remember what DOB
Iength of time on he used at set up. He’s been on the platform
fi for 2 years; therefore, he would have been 13
pro ile when he signed up. Add length of time to this
(13+2) which meant he had a user age of 15
(same as actual age).
Don’t r b Assume they put DOB Sl i = Joe is 9, he doesn’t remember what DOB
More than 5 emember as 13 atsetup 13 (assume he used at set up, so we assume 13. He’s
Q8 so not asked Under 13 A lenath » minimum for sign been on the platform for 6 years;
years ssume 'engt oftime u ) lus Iength of therefore, his user age is 19, which
Q8a on profile as 6 years f P o equates to 18+.
Ime on proriie
User age = .
’ Assume they put DOB Joe is 15, he doesn’t remember what
More than 5 Don’t remember as 13 atsetup 13 (assume DOB he used at set up, so we assume 13.
Q8 so not asked 13-17 A p h . minimum 13) plus He’s been on the platform for 6 years;
years ssume length of time Therefore, his user age is 19,

which equates to 18+.




Scenario 4 - Children who did not know what DOB they entered at set up

Length of time on

profile (Q3)

DOB at set up (Q8)

Actual age of child

(P3)

Assumption

USER AGE Example

Scenario 4 (19)

Don’t remember

Don’t remember

Under 13

Excluded as we
don’t have enough
information for user

age calculation

Scenario 4 (20)

Don’t remember

Don’t remember

13-17

Excluded as we
don’t have enough
information for user

age calculation

Scenario 5 - Children who changed their DOB* since setting it up to their

actual age

Scenario 5 (1)

Scenario 5 (2)

DOB once changed Actual age of child Assumption USER AGE Example
DOB changed to A DO 15 i undereman may not e pssble ce 1o mimmn
match actual age Under 13 as they ca;gtbe under User age = 13 age requirements). As the profile cannot be under 13, we
(Q6) assumed user age is 13.

DOB changed to

tch actual 13-17 User age = actual Joe is 15, he changed the DOB on his profile to his actual age.
matc (a ;'la age age Therefore, his user age is now 15.

Q6

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

Scenario 6 (1)

Scenario 6 (2)

12 (Q7)

13

the user age is

lower than the
actual age)

Excluded from
calculation

DOB once changed Actual age of child Assumption USER AGE Example
Changed DOB so ;
f'Ig is 10 Under 13 Ass;;f:ne DOI,BtZOW /sdl3 User age = 13 Joeis 9, he changed the DOB on his profile to 11. As the profile
profiie age 1S B as they ca;g e unaer g€ = cannot be under 13, we assumed user age is now 13.
12(Q7)
1) . _ 13 (If 1) If the user age is above or equals the actual age: Joe is 13,
S€erage = . he changed the DOB on his profile to 11. As the profile cannot
the user age is .
be under 13, we assumed user age is now 13.
above or equals
the actual age) - .
2) If th I than the actual :
Changed DOB so RSSO 7545 Joeis 1)4 he iﬁ:g:ﬁi:‘e gvoveBron ahri]s pfo?irieutao iieAs the
profile age is 10- 13-17 as they can’t be under 1) User age = 13 (If ’ )

profile cannot be under 13, we assumed user age is now 13.

But his user age now is lower than his actual age, because the
research only looks at children whose user age is older than
their actual age, this case_will be excluded from the user age

calculation

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

DOB once changed

Actual age of child

Assumption

USER AGE

Example

Scenario 6 (3)

Changed DOB so

User age = new

Joe is 9, he changed the DOB on his profile to be 14. Now his

Scenario 6 (4)

Scenario 6 (5)

prOﬂIe age is 13- Under 13 age after DOB user age is 14.
17 (Q7) change
1) If the user age is above or equals the actual age:
1) User age = new Joe is 15, he changed the DOB on his profile to be 16. Now his
Hp v DOl user age is 16.
change 2) If the user age is lower than the actual age:
Changed DOB so 2) User age = new Joe is 15, he changed the DOB on his profile to be 14. Now his
profile age is 13- 13-17 ot DO . user age is 14. |
17 (Q7) lower than the However, his user age now is Iowe.r than his actual age, .
actual age because the research only looks at children whose user age is
Excluded from older than their actual age, this case will be excluded from the
calculation user age calculation
Changed DOB so Assume DOB after User d58 S New Joe is 9, he changed the DOB on his profile to be 18. Now his
profile age is 18+ Under 13 changing it makes them age after DOB ’ 8 user age is 18p '

(Q7)

at least 18 years

change

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

DOB once changed

Actual age of child

Assumption

USER AGE

Example

Scenario 6 (6)

Changed DOB so

Assume DOB after

User age = new

Joe is 15, he changed the DOB on his profile to be 18. Now his

Scenario 6 (7)

Scenario 6 (8)

profile(age) is 18+ 13-17 char;gz:}r;i;igvgl;:z::em age 1fter DOB user age is 18,
Q7 change
Changed DOB - Excluded as we
Don't Under 13 .don t ha.ve enough
know/Don’t information for user
remember (Q7) age calculation
Changed DOB - Excluded as we
Don’t don’t have enough
13-17 . .
know/Don’t information for user

remember (Q7)

age calculation

Scenario 7 - Children who changed their DOB* since setting it up to another
age that is not their actual age but does not remember or does not want to

say what age it was changed to

Scenario 7 (1)

Changed DOB —

Excluded as we
don’t have enough

Scenario 7 (2)

Don’t
remember/Prefer Under 13 information for user
not to say (Q6) age calculation
Changed DOB — Excluded as we
Don’t 13-17 don’t have enough
remember/Prefer information for user
not to say (Q6) age calculation

*Length of time not required for user age calculation for those that have changed their DOB
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